Please note that measuring the current draw at the power supply will generally not provide an
accurate measure of the coil current. Since the input voltage to the driver can be significantly higher
than the coil voltage, the measured current on the power supply can be quite a bit lower than the coil
current (the driver and coil basically act like a switching step-down power supply). Also, if the supply
voltage is very high compared to what the motor needs to achieve the set current, the duty cycle will
be very low, which also leads to significant differences between average and RMS currents.
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